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SECTION 4.2
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Graph y+2x=4
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SECTION 4.3

Find the x — intercept and the y — intercept of the graph of

x=int_ = \ coordinate( ‘iaG\)
y—int_= “5 coordinate (bf' 3))
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A recycling company pays $1 per used
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ink jet cartridge and $2 per used laser cartridge. The
company paid a customer $14. This situation is given bty

x + 2y = 14\where x is the

number of ink jet cartridges and y the number of laser cartridges. Use intercepts to
graph the equation. Give four possibilities for the numberofeach type of cartridge that
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SECTION 4.4
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Find the slope of the line that passes through the points.

(12, -1) and (-3, -1)

(—é, 6) and (4 ;3)
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The graph shows the ticket sales for a school dance on day 1, day 3, day 6, and day 9 of ticket
sales. Describe the rates of change in ticket sales with respect to time.
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